
ECE 3050 Analog Electronics Quiz 4
June 10, 2009

Professor Leach Last Name: First Name:
Instructions. Print your name in the spaces above. Place a box around any answer. Honor Code Statement:
I have neither given nor received help on this quiz. Initials
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For credit, you must give all equations that you use to calculate your answers. Credit will not be given for any
answer without full supporting work.

1. For V + = 24V, V − = −24V, IQ = 2mA, RG = 1.2 kΩ, RS = 200Ω, RD = 8.25 kΩ, K = 6.4× 10−4A/V2,
and λ = 0, solve for vo1 and vo2 as functions of vi1 and vi2.
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